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' Dlrectmns (Q. 11- 13) Man k the conect syuonym of the gwen word
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© . A)irascible C) kmd
12. . Ecumenical;
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B) affable : F
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' .__Dlrectlons (Q.14- 16). Mark the con ect prepos:tlon to be ﬁlled m the gaps. e

: 14 Sita could easily see Ramu’s desugns SRR
ooma T TBof o Oftom
15 - Sachin was always intent ol scormg runs g
S siAon oo Byof o C)ﬁom S
16, 0 dtis dlfﬁculi' to alrlve any deCISlon .
' "'--A) on ' . Byat . C)w1th R
g Dlrectmns Q. 17-20) Mark the corl ect antonym of the glven word
17 - Droopy R
‘A)ydangling
18.  Frowsy SR
A) ostantation

B) Joose _-: | .C) _upnght_

B_) omam_ent -.0) gilding
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19,

20.
a1

22,

23,

24,

Hedonistic

A) ascetic B) sybaritic | _C) part_ial D) partisan
Inure o - : RS P e
A)harden - B) sensitize - C) succeed ' 'D) dehurnanjze

'-Who of the followmg, is the younoest awaidee of the Nobel Prize so far:- . S |
“A) Malala Yousalzal B) Kallas h Sdl)’alﬂll C) B. Shaw ' D) Elncst Henungway

The ﬁlst-ever Indlan Ameucan to be conﬁrmed as the ne\;t US Ambassadm to lndla is:
A) Devyani Khoblagade ST ‘B) Richard Rahul Verma =~
C)Ravi Varma - 0 BN D) Rlchard Subramamam S

The 1ecently concluded Wo:ld Cup (Cncket) for the Blmd was held in;

- A) Engiand o B) West Indies C) South Aftica D) Austlaha e

Havmg lost 220 Indian languages m 1hc past SO yeals, the Government of Ind1a has

~ decided to: - : . - EEREE _
CA) mvolve Giam Panchayats for pleservatlon of languages P Ly

'.' '_ B) involve the World Bank for funds for pleservatton of languages

25
- 26.

27.

28,
29,

30.

S 0) mvolve the Asian Development Bank and UNICEF for plesewatlon of languages

D) preserve 520 highly vulnelable lanouages 1t has identlﬁed and take up 70 in the fnst. S
~phase of the pleect e Gl : R SR

The Summlt meetmg between ane Mlmstel Natendla Modl and Vladlnnr Putm the

: "Russmn Piesmlent held in Decembel 2014, put accent on: _
S A) Nucleal energy and hydlocalbons - B) AguoL lrure and msulance sectoxs .
Ee)! Space Icscalch and commmncatlons D) Pover ly allevntlon ploglams dnd htelacy

India’s sulface to air mlssﬂe st Co '_ R
CA) Agm SRR B) Trsshul C) Nag oo 2Dy Prithvi
:_Idennfy the wrong pau assocmted wnh Indlan Clnerm ERBTREE

' A) First full length Tamll feature ﬂlm Ixeechak Vadhmn g FRERE
-B) First Indian film to use the techmque of playback smgmg hoog R

O) Flrst Indlan ﬁlm to be nommatcd for an Oscar Award — l/fughaf- -Azam S :

) D) Fi nst Indian cmemascope ﬁlm - I\agaz Ae Phoo!

In whlch arhcle of Indian const;tu’uon the plocedure foz adoptlon of OfﬁCial Language 01

Languages of state is given ?

*mmmw@g_ammmw4_’Qmmw%fenl~mmmw%_

Accordmg to Amcle 25 of the Constltutlon nght to Freedom of Reilglon is not

subjected to:

A) Humamtauamsm B) Public mdel C) Mmality _ :. S .: D) Health
Which of the followmg lallway tlack-route connectmg two statlons has been accorded the
status of heutage railway line by UNESCO 7 : -

A) Allahabad and Varanasi -~ - - B) Slhguzland Dazjeeimo Rt
C) Mumbai and Thane D) Anritsar and Ludhiana
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6

-7

: --Bandlpur National Park is primarrly known : :
" ’'A) as an Elephant Reserve ISR B) asa One Horn Rhmocetos Reserve
- QOasa Tiger Reserve - S ' D) as a Blosphele and Crocodile Resetve

: ;Who is the authm of the famous book “The Rlse and Growth of Economic Natlonahsm

~in India” _ - : .
A)R C Dutt B) Amartya Sen (,) Guroharan Das - '3D)_Bipa_n' Chandt_'a _

Who was the ﬁrst Chref thster of J harkhand state"

A Babulal Marandr e B) Shibu Smen S C) ArJun Munda D) Madhu Koda
‘The tevenue esttmates of the Budget in Indra ate prepaled by _— '
~ A) The Central Board of Direct 'I‘a\:es S B) The Mrnrstry of Fmance
C) The Cabmet Secretanat 3 AR D) The _Plan:nmg C_omrnl_ssron :
: “World Consumer Rjghts Day is celebrated on: '_ : R
A Apul 18 . B) December 17 C) Maroh 15 ... D) Secptember 14 .

_-'Comp!ete the series: - -

CF-U6-91-T7- 20 4D23 : - - o
'.A)11G16KU B)lBHiSLM C)I?JIQRS D)21R18GW__-.Z
'Select the pau of words ﬁom the four alternatrves that has the same 1elatlonshap as. .

o the grvenpan has = : : ' S S

S Given pair — Loyalty'Dlsioyalty

o3

g A) Accord: Consent - B) Drhgence Lazmess C.) Code:Etthdé D) pai,;_;kal(,'ugy_ BRSEINE
Fdowtedfenoe
CDOE3 11)XD6 iii)JBS' o w)vxz R 'V)PH3 '

 3m@};” mm 1; Qm - mn

S39,

~In_a certain code VISHWANATHAN is \mtten as NAAWTHHSNANIV How s
. _-KARUNAKARANA written in that code S i
A) AKNUARRANKAK . . B)KAANRAURNAAK

O NKKRANKRAUKA D) RURNKAAUNAKR g '. o

ST

4.

' Decpak said to Nltm “That boy playmg football is the younger of two blothets of the_ S

daughter of my father s wife™. How is the boy playmg football related to Deepak?

o .'A) son e B) cousm T _1 e C) brother D) nephew .

A1, o | 1) A B C, D E and F are. 6 students n) B and C are shorter than F but heav1er than A

iii) D is heavier than B and taller than Civ)Eis shorter than D but taller than F.

o v)FisheavierthanD - yDAs shorter than_ E but tailer than F -
E 'Whlch of the followmg gtoups of students is shorter than A? :

A)B,Conly  B)D,B,Conly = OFB,C only ”D)E B,C only i

A man walks [ km. towards east then tutns to south and walks 5 km., agam he turns
“. 1o east and walks 2 km., after this he turns to north and walks 9 km How far is he

now from the startrng pomt" o R
A) 3 km. ' B)dkm. C)Skm D)'/km
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43.

In the Fig. Circle ‘S’ stands for households having a scooter. Circle ‘T’ stands for

-households having a TV set. Circle ‘W’ stands for households “having washmg

machine and circle ‘C’ stands for households having a car

| _Households havmg ne1t11e1 scooter nor car are represented by R

A) union ofreg10n 2, 13 and 3 B) leglon 2 C) Ieglon 3 D) none ofthese |

4.

'Select the combmatlon of numbels so that the lettels S0 ananged accmdmgly will
forma meamngful word ' : . '

3 Cc 0 P T ..'-EZ“”R' 3

l 23 4 .5 .86 7

'“f}A)1345672'2 B)2645137- 634731625.l:137645132

s

6.

In the followmg auangement if each alphabet has a value zZero, cach symbol has a .'
“value equ1valeni to the square of the numeral that nnmedlately plecedes the symbol or - _
“the value 1 if it is not immediately pleceded by any numeral, what w11] be the sum of PR
~the values of the first 10 elements of the series starting from leﬁ hand? ' RS

2*856B9$Q3E17RD4+U$LM@KU&A(MN’

_ A)46 BT C)lO7 D)118

: The dlgits of the followmg ﬁve numbers are wutten m levelse ordel and ﬁve new

'-_-:numbeisareobtamed R R e
- 513 . SJ26. 492 o 865 '149.':"'

W}nch of followmg numbers retains the same posmon from the top when arranged in

2 descendtng_ order even after the posmons of the digits are Jeve_rsed ?
A9 B)726 C€)513 s D)865
w47,

‘Which two months among the followmg w11[ have ihe same calendar ina year‘7

CA) June Octobea . B) Apul Novembel C) Apul Juiy D) Octobei-Decemlbel -~
Jf 0" denotes '+, ‘M’ denotes -, 'A' denotes "X, Q' denotes' '+, 'X' denotes =, Y

~ . denotes ™' ‘and 'Z' denotes '<, whxch of the following expression is cmrect L A

A 32X8Q2A3Q1A2 B) 14X2A4A2M2Ql C) 2YIA1QIOIA1 ' D) 16Y8A301A2M2 -

49, -Replace the questlon malk (‘?) with one out of the given altematwes D :

31 | 17 ] 58 [ 87
68 | 19 | 6L | 56
91 | 22 | 70 | 50
TR i
A)3 B)6 o071 D)9
rngr(it)-5 ‘Page 6 of 24 :




50.

52.

0.943 x 0.943 - 0.943 X 0.057 + 0.057 x 0.057

._ 0943X0943XD943+0057X0057X9057 . .
A)032 | '. o B)0886 B C)11286 o D)l

Cs1
B ]l]CleaSGS by 1 kg If One mOle Stude]]t \\.’Glgl]lng 50 kg !S added ﬂ'len the HVEIage .

In a class 1f one student weighmg 50 kg is added then avelage welght of the Class

welght of the class increases by 1.5 kg, ove1 the ougmal aveiage What 1s the

original average \_velght of the ciass” o
A)Zkg . B)4kg - C) 46kg '_: D)47kg

15 yeals hence a man wﬂl be _|USt 4 tlmes as old as he was 15 yeats ago H;s present_ .
age is RN :

A)25 yeans . B)20yeals - .:_ C) 15 yeals D)lOyeals

s,
54,

55,0

B2

59.

A dairy man buys mllk at Rs. 6.40 per ime He adds water and sells the mlxtule at RS 8 s
- per litre, the1eby makmg a ploﬁt of 37. 5% The prop01't1on of watex to mllk 1ecexved by o
the consumer is SOOI L : .
A8 B)ll() C)li2 SRR D)liS _
dna rectangulal plot of length 20 m and w1dth 14 m, a pit 6 m long 3 m wide and 2.5m 5 -
-_deep is dug in a corner and the earth taken out 1s splead umfmmly over the 1emam1ng A
area of plot.. The level ofplot will be raised by i : IR MRS R
"A)l7 18cm R B) 15.16 cm ' C) 18 l9cm D) 16 l7cm
“The plesent worth of Rs. l690 due two yeals hence at 4% per annum is _
' "'A) Rs 1505 B) Rs ]547 . C_) Rs 1562 50 D) Rs 1580
" 56 o -'The phases in the soﬁwale development plocess are hsted below Ln albltlaay ondel
" (@Design ‘G)Test ~ * " (c)Code
“(d) Requxrements Analysm S (e) Mamtenance - (f) Deployment

:j'-".Theconectmdeungls '
'_-A)a,bcdef B)da,c,bfe C)bc,fade__ D)dacbef'_

Inthe context of sottware engmeenng, wlnch of the followmg is FALSE'P b :

A) A good modularization has low cohesion and high coupling. =~ :
B) Using an agile development methodology makes it easy to react to requnement _

_' * - 'changes late in the project.
Ol Beta testing involves a large number of end~usels SR BRI
D) Requnements need to be ehc1ted ﬁom a]l lelevant stakeholdel g1oups not only ﬁom _

_end-users.

_ .What actmty was added in the spual model that was. not piesent m the watclfall model of

software development? . ;: :
A) System Analyms B) System Des1gn C) RlSk Analys1s _ D) Testmg

Modularity and concept of abstraction enables the software engineer to:
A) Re-use the software components  B) Increase Interdependencies among the modules
C) Increase highest possﬂole couplmg D) Lower the cohesmn

mgr(it)-5 Page_ 7 of 2__4




60.

61, :
_A) P;ocess metucs analysm B) RJSl( analy51s C) Functtoml pomt analys1s D) Case tool

62,

An iterative process through which requnements are ttanslated 1nto blue print for
developing the software is: S
A) Requirements analyms “B) Soﬁwate des:gn
C) Software coding - D) Software requ1rernent spec1ﬁcat10n o
is a popular method for estlmatmg and measuring the size of the software,

Constdet the followmg set of relatlons in wlnch the pnmary keys are underlmed
Student(snum: integer, snanie: string, age: 1ntege1) R
Class(name: string, meets_at: sttlng,mom Stung, Sfid: mtege1)

. Enrolled(snum; integer, cname: string) -

Faculty(z_‘:a’ integer, ﬁqame stnng, deptzd mtege:) R o |

o Cons1de1 also the followmg SQL query

| _The above SQL quely

: .-"_._S'ELECT_ : DISTIVCT S sname F ROﬁ.f[ SmdentS ; |

WHERE S soum IN (SELECT - E.snum
S : “FROM o Enrolled E
~GROUP R _' BY Esmmz

o HA VING COUNT(*) >= (SELECT COUVT(*) |
' . . ROA[ Emolled E2
GROUP BY E2. smlm))

. ~:A) Returns the names of all students who are not emolled in any. class _ S
- B) Returns the names of all students who are emolled in the maxunum numbei ot classes

~than any student is enlolle(l in.

2. C) Returns the names of all students who are emolled in only one class :
D) Returns the names of all students who are, emolled in tlle m1nnnum nun1be1 of classes o

e

' than any student is emolled in.

The UNION opexanon (u) between two 1elattcns Rl and R2 is a new 1elat10n that 1nclucles S

A) all the tuples of R1

B) all the tuples of R2

~C) all the tuples of R1 and R2 Whlch do not have common columns

64.

‘D) all the tuples of Rl and R2 wlnch have common columns

Choose the most appiopuate statement w1th respect to data mdependence in DBMS

A) Data independence means data is deﬂned separately. and not included in plograms

. B) Hierarchical and network DBMS's do not support any kmd of data mdependence asmo - B

' 'C) Data mdependence means that the apphcanon plog1ams are 1es1hent to changes in data -

~ arbitrary changes in the structure are supported,

“its structure and storage or gamzatlon

D) [n RDBMS both phys1c'11 and log1cal data mdependence is ouatantecd
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65.

In RDBMS, Normalization is: - ' : : -

A) the process of creating small stable data sttuctures ﬁom coznplex gloups of data when
~designing a relational database =~ :

B) a methodology for documentmg database tllustratmg the 1elat1onshtp between vauous
“entities in the database BN

C) an approach to data management that st01es both data and tile ptocedutes actmg on the
~-data as object that can be autormtlcally 1etueved and shared : L :

' D) a reptesentatton of data as they wou]d appear to an apphcatron progtammer or uset o

66,

_'Atelatlon _R {A B C D E} is gwen wrth followrng set of functronal dependencres E
PR F = {AaBADweCBaFAaE} S

= Whrch of the followmg isa candldate key"

69, .
. A) To make the results of all transactions. conespond to.a settal executron of all the S

A)A B) AC Rt C) AD - .D)_ l\_lone of the above

Consrdet the followmg databa_s_e table BT

o creat‘e fable fest ( i
one mteger _
two integer,
' _pnmary key (one)

- unique (two), _

oy _check (one >= 1 and <= 10)

' -check (two > 1and< 5)

L '_'.How many data 1€C01dS/ tuples at most can tlns table contam‘? o - S
: Consrder a database table T wrth a‘rtrlbutes X and Y Whrch of the followmg SQL queues is s TR
o illegal? SR '
CUAY select X from T ' e B) select X count(”‘) ﬁornT

18 select X, count(*‘) ﬁom T group by X D) select X Y count(“) ﬁom T group by X, Y

In databases the purpose of two -phase lockmg wrthm ttaasactrons is:

ttansacttons o

“'B) To ensure that, aﬁei a c1ash each transactton has elther happened in rts entnety or not at -_'

Call

'C) To allow a gtoup of machmes to all agree to perform or not pe1f01m thett respectwe .

‘picces of distributed ttansactton R

R D) To avoid deadlocks S
70,

A Data Warchouse is al“’a}’s . (P )__ ' and Data Mmmg can be used as. (Q)—- b

- Tool, where (P} and Q) are: . S
~A) Object oriented and Software, respecttvely
" B) Subject oriented and Research, tespecttve]y _
- ©) Compiler oriented and Hardware, respectively
D) Network ortented and Process, respecttve]y B
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71.

Which of the following best describes method over Ioadmg and method ovetndmg in an

- object oriented programming? -

A) In ovetioadmg, methods must have the same sngnatme In ovemdmg, methods must have _
~different signatures. -

:B) In ovetloadmg, methods must have d:fferent sugnatures In ovemdmg, methods must

‘have the same mgnatu:e

L) In overloading and ovemdmg, methods must hdve dlffeteni mgmtmes

72.

T4,

D) In overloading and ooverriding, methods must have the same 31gnatu1e -

_Whlch of the following statcments about recursion are true?

L Anyr ecursive function can be implemented using iter ‘afion (wrthou! recu Sron)
I Any iterative function can be implemented using recursion (without iteration).
i Recm sion is always more efficient and easier to Jmpiement !han irer: arron S0
' you should use it in pr ejer ence 10 ifer, atmn i : - -

o A) Ionly :_ B) lonly Q) Iand I only 'D) All ofI II and IH
73.

What is the nonnal ondet of actlvmes in wlnch ttadttlonal soﬁwate testmg is 01gamzed‘?
I integration testing Il Aysteirr festing . '
UL unit restmg IV _vahdafron iesfmg iR
__._A) IL LIV, II B) L 1L IV, 11 '_ C) IV II HI I _' D) IH 1, IV I _ _
Which of fo]lowmg stung is NOT in the }anguage described by the regular etptesswn sy
L@*byre? . i e
A) 4aaaac . B) aababc R _.C) abe _' . 3 D) bbbbbc
The ping of death is o O "

7, o
7A) AnICMP echo 1equest ﬂood that dlsables a host

~B) AnICMP echo reply flood that disables a host,

C) An e\t:emely large ICMP echo ;equest message'that dlsables a host

D) A probing of a netwmk usmg pmg that fmds a cr1t1cal weakness in the sec'uuty of the s '

7,

_ netwoxk

What is the role of domam name server (DNS) in the Inte1net‘7 TR

‘A) Translate between LAN and WAN protocols

- B) Translate between domain name and IP addless ' S
“C) Supply domain name against user queraes SR

D) Ttans[ate between HTML pages. and domam names S
77. I
A)a far ge pool of usable and acce531ble virtualized resources

What isa eouect ‘definition of Cloud eomputmg’?

| "B) anetwork of globally interconnected client computers
-~ C) a service aichitecture based on thin clients

| = :-D) a service oﬁ‘ered by a Service ptov1de1 not hmlted by a Sewxce levei agteement (SLA)
T8, ' '
.- A) higher payment of IT staff involved in C10ud computmg

What is a beneﬁt of Cloud computmg foz IT staﬁ‘?

“B) less interruption of work caused by users asking for support

79.

C) less knowledge needed: Cloud computing does not require speelal computmg skﬂis

D) lower stress levels less worry : aheut normal dally activities like makmg back -ups ;

Delivery and stmage of email messages toa serve; is achleved usmg
A) Post Office Protocol (POP) " 'B) Internet Mail Access Protocol (LMAP)
C) Simple Mail Transter Protocol (SMTP) _ D) Hypertext Transfer Protocol (HTTP)
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80.

In computer networking, a firewall is

- A) Anestablished nefwork perfmmance reference pomt

‘B) Software/hardware used to 1solate a puvate netwmk from a publlc netwonk

" C) A virus that infects macros.

- 81,

8.

D) A predefined encryption key used to enc1ypt and dem ypt data ’nansmlssmns o

The first instruction of bootstrap loader p1 ogram of an operating system is stored in: '_
A) RAM B) Hard Disk C) C'thB Memoay S D) _BIQS_ i
The opelatnon of deﬁagmentmg a ha1d disk: RERNO : St

- A uses compactlon to combat internal fragmentanon .
- B) uses compaonon to combat external fragmentation _
- C) uses compressmn to combat internal fragmentatlon B

83y

85, P :
- _'ﬁf X: Tt does somethmg harmful to the compute1 system but is dlsgmsed as somothmg useful E _

D) uses complessmn to combat external ﬁagmentatlon -

Whlch tool below combines (statlc) hbraly routmes and lncomplete ob_|ect codes into an RN

TR executable machine language plogram‘? . SRONSER SR
o _fA) Assemblel B) Comp1ler o C) lnterpleter I D) Lmken R
Whlch ofthe followmg is notascnptmg lamguage‘7 S i - ) ERLTRE T
A) HTML . B) XML ) Postscupt e ._D) Ja_yaS_cript e
:Read the followmg descuptlons aboutX Y andZ e '

:_Usually it does not make copies of them

" Y: Itisa computex pmgwm that propaoates 1tse1f across computels c1eat1ng coples of 1tself

in each computel and infecting the entire network. -

'- Z_: Itisa computer p10g1am des1gned to 1eplzcate itself by mfectmg othel ﬁles 01 system

- 86,

g

areas wlnch need a host plogram to splead to anothe; computel

E :ZIdenufyX Y, 7.

: A) X: Virus, - e Worm, 7 Tlojan hmse
B) X: Trojan horse, Y: Virus, - Z: Worm,
0y Xt Worm, "Y Trojan horse, . Z: Virus.
Dy X TIOJaIl horse, Y Worm, _5Z Vnus "
Amazon.com comes under the followmg model R
A) BZB B)B2C C)C2C SR D)C2B o
The core of a(n) R consnsts of dozens or hundleds of thln strands of glass or plastlc PR
 that use light to transmit signals. R o : - '
A) t\wsted-pan cable I B) 1nf1ared cable . S
C) fiber-optic cable . PR _' D) coaxial cable or coax ERTE RO

A Worm b B) Tro_]an hmse _C) _s_py;_\_fale__'. [ D) spam N
80 . i

An unsohmted e-ma1l message sent to many 1ec1p1€nts at once is.a

89, A blometuc dev1ce W_ﬁw : : ST : :
= ~'A) allows users to connect to a computet only after the computel calls back at a plewously

. established telephone number -

 B) authenticates a person's identity by vemfymg personal charactcnstlcs i o
- €) is a unique combination of characteis such as lettels of the alphabot or nnmbels that

identifies one specific user -
D) is any item that must be carried to gain access to a computer or computer facility
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90.

is the process of convemng readable data mto unreadable characters {o plevent

- unauthouzed access.

91.

02,
93,
94,

95,

A) l“uewall _ B) Blackout - C) Encryptton :' g D) Brownout _
Which mput method does main] y banks use f01 processmg cheques‘? - PR
A) O\/lR '_ o B) MICR ¢ "_ . C) Bar code reader - D) nght Pen

K’lnt is the teclmcloglcal ady. mcement that madc 1t poss:ble f01 computels to become as

small as they are today‘7 .

‘A) Repeater -~ - B) Vacuum tube : C) Transxstor f-_ D) SlllCOll clup

The term, e 1efe:s to the amount of mfounatlon hansmltted tlnough a
communication medium in a g1ven amou_nt_ of time. = SRS

A) dots per inch . B) bit depth e C) bandw1dth 'D) broadband
Ploglams such as Internet Explorel that sewe as nav1gable wmdows mto the Web are ealled
‘A) Hypertext PlOtOCOl B) Netwolks o) Intemet R D) Web browsens _

A soﬂware is termed an open source soﬁwale lf

‘A) the developer compatty is open 24 hours

'B) its source code is avaifable to share, study and modify . : AR
-°C) itcanbe downloaded from the Internet by paymg Vely small amount S

96

‘D) it is available free of cost o : : Lo
What is a speclallzed software program | that allows mput and output dewces to commumcate R

* - with the rest of the compute1 system?

98,

99,

_'A) Utlhty duvex B) Ut1hty progxanl C) Dev1ce dnvm ' D) Data compressmn utlhty

Usmg lhe HDD as an e\tensmn of RAM isa featme of

~A) Virtual memory = TN = B) Cache Gl
0 Dnect Memmy Access (DMA) S0 D) Viral Rea]lty B
C_on51de1 the followmg hsts :
ListI o L1stH Sl
1 Limee 00 P Tefor!eEd:!o: _
2. Mozilla Fnefox 0. Image File mem
3. Nofepad . R Opera!mg System
4. JPEG o S, WebB:ow.seJ '
The correct match i is ' _ L ' L
:jMin2ﬁ834P4ﬁQ NTJ mlwszea3aQAaeQ
.'C)l—>R2¢—>P3—>S 4—>Q S D)l—)Q,Zm«»S 3—>P4—+R._
The size of a computel monltor is measmed S SR
- :A) vertically, from top to bottom SR B) honzontally, ﬁom sxde to sxde ERORREEt
.'_C) d1agonally ﬁom cornel to corner D) Ieglonaliy, multlplymg length by wdth
~100. - Clock speed the speed at. wlnch a computel plocessm executes mstructlons is measmed
- in ' , which equates to one million ticks of the system clock. :

. A) kilobytes B) milliseconds . - C) .gigahertz N D) nanoéeconds :
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